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 يموزارة التربية والتعل    
 الإدارة المركسية لتطوير المناهج

     مكتب مستشار الرياضيات  

 

 

                   Fourth grade    .                       First term. 

Classroom performances 
Week Three:Unit One, Lesson (8) + Unit Two, 

Lessons (1, 2) 
(1) A road of 7,932 km in length, round the length of the road to the nearest 

hundred. 
 

(2) The height of the Cairo Tower is 187 meters, Round to the height of the 

tower  to nearest ten. 
 

(3) The number of ants living in one colony is 37,243 ants, Round to the 

number of ants To the nearest thousand. 

 
 

(4)  Using front end estimation strategy to , find the result of   76 + 93=  …… 

 

(5)   Using front end  estimation strategy to , find the result of 83 – 47= …….  

 

(6) Walid has 642 pounds, and Ahmed has 257 pounds. Estimate  to the nearest 

hundred.  ( use round strategy ) 
 

(7) With Emad's sum of 27,850 pounds, he bought a watch for 5,250 pounds, and 

sunglasses for 14,670 pounds. Estimate the remainder using the strategy you 

prefer. 
 

(8) Complete, then write the name of the property  

                18 + 171 =  171 ..........  +              property.............. 

 

(9) Mona wrote 25 – 38 = 38 – 25. Is this statement correct? And why ? 
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(10) Ahmed bought a notebook for 35 pounds, a ruler for 15 pounds, and a pen 

for 12 pounds. 

       Use the properties of addition to find the total amount that Ahmed bought. 
 

(11) A car travels  66 km in the first hour, and 87 km in the second hour. What 

distance did the car travel in the two hours? 
 

(12)  Use the properties of the addition operation to find the result 

                                    11    +   15   +    9   +   5 
 

(13) Samir has 13,459 pounds, and he took 9,850 pounds from his father. What 

is the total amount he has? 

 

(14)   The number of housing units offered in the social housing project is 8,250 

units, and in luxury housing 5,980 units. What is the total number of housing 

units offered? 

 

(15) Rounding the number 56,762 to the nearest thousand                      
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